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8l FHHl &3 17 10 1 HiltE A Y~ ZE kR
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135 E  [FIHR 3 3 1 HiiE A 1% 1k m (FUTREACFE AL
14|fng A M 223 110 1 £ 7IX5km (" p=n"Wpy=7 4//7 D)
15[ H 2 EH 226 111 1 HilE A 7 X RS (7770 =7 VIR D)
16| WGE [ H 228 112 1 HikE A 71X 1 0km(J77 2 =} Vi)
e & |[EH 231 113 1 HiliE A 7 X7 F 3kn(FiEKE T)
18| s [WHH 236 114 1 TG A 7 X7 b 1km(A2NLD)
19|50 Wk [3H 238 115 1 i A B 7 X 1 5 km CRAT S 2 {25
20| HtE Wi it 4 1 1 LTS 0 & i b, KIEGEAE(E S, M
217 A Y [HiE 1 1 1 VTR 0= o, KES EAE(E S, B
22| B8 [AiiE 2 1 1 LTS 0 & b, KIEGEAE(E S, M
23|k & [AiE 3 1 1 ILTHIS 0 = =i o . KES EAE(E S, B
24 KM #5E  |nilE 5 1 1 FTFRI5 075 A, AEETEARE . BH
25| K B NG 6 1 1 ILTHIS 0 = iAo, KES EAE(E S, B
26|43t L [AiiE 7 1 1 LTS 0 & i b, KIEGEAE(E S, M
27|22  —RR [diE 8 1 1 WTHIS 0= o, KES EAE(E S, B
28|l s [AiiE 9 1 1 LTS 0 & i b, KIEGEAE(E S, M
29[ KEE ik AR 10 1 1 TR 0= iAo, KES EAE(E S, B
30[mbilis AR |RilE 11 1 1 LFTFRI5 05 A, AEETEARE . BH
LR W [AiE 12 1 1 VTR 0= ERATACNE S
2l E Rk [FiE 13 1 1 VTR S 0% Ao, KIEG EAE(E S, IRl
33HRBRAB 1~ [HiiAE 14 1 1 ILTHIS 0 = EIRATAENE .
JA|EVE  FEOl [HiiE 15 1 1 HTFRTS 0 & i b, KIEGSEAE(E S, K
35|fEE A [EiiE 16 1 1 VTR 0= A e, KESEAEE S, B
36 A |FilE 17 1 1 TS5 05 A AEETEARE . BRH
37|tk ot it 18 1 1 ILTHIS 0 = iAo, KES EAE(E S, B
3l 2 Al 19 1 1 LTS 0 & s, KIEGSEAE(E S, K
IERM fe [diE 20 1 1 WTHIS 0= e, KESEAEE S, B
40 5T HitE 21 1 1 FTRI5 05 A AEETEARE . BH
4 iz [§iE 22 1 1 VTR 0= e, KES EAE(EE, B
2% o |FitE 23 1 1 TS5 075 a2 s AEETEARE . BH
43]Va%  Jk AR 24 1 1 VTR 0= iAo, KES EAEE S, B
44 H o |niE 25 1 1 LTS5 075 A, AEETEARE . BH
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63| R #E Bk 39 26 2 P A 2 X 5 km (77— 7 — 5% H Bif+3r)
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RE =% & 4 12 2 ren M HH A T e g APk 2 OV £% 1 km[X [H]
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PR =RE &y 6 12 2 ren My Ak FIT ey APk M OV 7% 1 km[X [H]
HHAERR [Ei 7 12 2 FE I Ak FIT Tl A K OVRIT % 1 km[X [

AR i E ISR 8 12 2 ren M HH A T e Ry T Ak 2% OV 7% 1 km[X [#]
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SRR A |E 10 12 2 ren M HH A T e Ry T Ak 2 OVRiT 7% 1 km[X [#]
TEEDOY - |E 11 12 2 FE I Ak FT Tl A K OVRIT % 1 km[X [
eI 12 12 2 rn IR T A T e g Ak 2 VAT £% 1 km[X [H]
Lk =k 13 12 2 e i TP AR FIT el AR K ORiT % 1 kX [H]
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wA Bz &l 18 12 2 ren M HH A T e Ry T Ak 2% OVRiT 7% 1 km[X [#]
A sk [ 19 12 2 F I Ak FIT Tl A K OVRIT % 1 km[X [
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Al R | Sk 21 12 2 rE I Ak FIT Tl H A K OVRIT % 1 km[X [
AKt HH  [Ei 22 12 2 rien My K FT ey Ak 2 OV 7% 1 km[X [#]
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B[] 54 33 3 BB A 3X 2km(H I b /LT i)
' [it] 55 34 3 ARG 2 HH A B HEA e

HE 1 21 3 2 FH AT A Rk K OVRli £ 1 km X
HiE 2 21 3 O FH Ak BRI Rk K OVRiT £ 1 km X [H]
HE 3 21 3 2 FH AT A Rk K OVRli £ 1 km X
HiE 4 21 3 O FH Ak BRI Rk K OVAiT £ 1 km X [H]
HiE 5 21 3 2 FH AT A Rk K OVRli £ 1 km X
G 6 21 3 NELE SN BRIk R ONRIT% 1 km X[
HE 7 21 3 2 FH AT A Rk K OVRli £ 1 km X
G 8 21 3 NELE SN BRIk R ONFIT% 1 kX[
BitG 9 21 3 2N B kAT BRIk M OVEIT% 1 km[X
HiE 10 21 3 O FH Ak BRI P K OVRiT £ 1 km X [H]
BitG 11 21 3 2N B kAT BFIF- ik B OVEIT% 1 km[X
G 12 21 3 NELE SN BRIk K ONRIT% 1 km X[
BitG 13 21 3 2N B kAT BRIk K OVEIT% 1 km[X
G 14 21 3 UNELE SN BRIk R ONRIT% 1 km X[
BitG 15 21 3 2N B kAT BRIk M OVEIT% 1 km[X
HiE 16 21 3 O3 FH Ak BRI R K OVRiT# 1 km X [H]
HE 17 21 3 2 FH AT A Rk K OVRli £ 1 km X
HiE 18 21 3 O3 FH Ak BRI R K OVAiT £ 1 km X [H]
HE 19 21 3 2 FH AT A Rk K OVRli 4 1 km X
G 20 21 3 2N B kAT BFI -k M ONFIT% 1 kX[
HE 21 21 3 2 FH AT ARk K OVRli 4 1 km X
G 22 21 3 2N B kAT BRIk R ONRIT% 1 km X[
BitG 23 21 3 2N B kAT BRIk B OVEIT% 1 km[X
G 24 21 3 2N B kAT BF ik M ONFIT% 1 km X[
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132[fH /AEL [k 3 30 4 (S Tk Sl TP ARRT % OVl #% 1 kX [H]
133[NIL WO [t 3 30 4 B Ak FIT SR AR AT M OB 7% 1 km[X [#]
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188 % Fuff [ KH 4 57 5 K AP o AT M OVRIT % 1 km[X (S
189|FHpk  #EJ: [ KH 5 57 5 O [ kAT S HH Rk I M Vi £ 1 km TR
190| BJRC #th | KH 6 57 5 K A PIT o AT M OVRIT#% 1 km[X RS
191K =% | KH 7 57 5 O H kAT S kAT M OVRIT% 1 kX[
1924+ [ [ KH 8 57 5 ENELE G0 2 FH ARk AT M OVt 74 1 km X
1934 HA I AH 9 57 5 O FH kAT O kAT M OVRIT% 1 kX[
194K 1@ | KH 10 57 5 K A PIT o AT M ORI 4% 1 km[X (5
195/ BRI R 11 57 5 PN S kAT M OVRIT% 1 kX[
196/l B KW 12 57 5 K AP o AT M ORI 4% 1 km[X (S
1973k MEE] KW 13 57 5 O FH kAT O FH ARk AT M OVl £4 1 km X [H]
198\ 5k &Y | KH 14 57 5 ENELE G0 2 FH ARk AT M OVl 74 1 km X
19|f8% v, [ KH 15 57 5 O [ kAT O FH ARk AT M OV £4 1 km X [H]
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204 | HEH  ATHEKH 20 57 5 ENELE G0 2 FH ARk AT M OVt 74 1 km X
205H % |KH 21 57 5 X H KT KX H AT B OV 74 1 kX
206|#H14 . [KH 22 57 5 K A I o AT M OVRIT#% 1 km[X (S
207|MTH Bk KM 23 57 5 O FH kAT O FH ARk AT M OV £4 1 km X [H]
208|f5H Kl | KM 24 57 5 K A I o AT M OVRIT#% 1 km[X (S
209|FAR Hath | KH 25 57 5 K H kT O kT M OVRIT% 1 km[XC [
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213|hAE s, 129 68 5 PN AXT kR 3km(WFFhHD
214| 22 [H] & ﬂa’ K 132 69 5 N
215[#5)11 R 135 70 5 K HAER AXT F 1kmn(Y ¥ YA
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2247  fRE M4 165 82 6 fl2E BB X DU PE G
225 iR R 166 83 6 A B T BA R 0 B v
2265 Hr RF Ml 170 84 6 fl2E BB FEEFR A D G oVEE D
227 hAE  thiAr Ml 173 85 6 il 25 B B 5 X7 k 3km(HAEE &R
228/ v B [k 175 36 6 i B FEHP1 428 7 i (B A BT
229|568 /Aﬁj: GES 177 87 6 il A= A 5 X7 k 1kn(F/MER)
230[FEEMBER [k 179 88 6 i B
231 i B A 185 90 6 AR 6 X 1 km (BERHTZZ 72 A1 00m{F3/T)
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233 B[R 188 92 6 A B JRRBTT T HAFE AL
234|dbN B2 M4k 190 93 6 il 2 A 6 X 2km (|11 FE-4—AHi)
235|700k HE— [ 191 94 6 il A A AT T H AR 75
236 | NpkpEE—RR  |Fi 2k 193 95 6 il A= A —XHEAND
237 7t<ﬁ B8 [HiAE 195 96 6 il 25 B 0— Y A FEN
238| KB SEw] [MiZE 197 97 6 B8V R 5 0 B2 THi
239|7eHy ik M 198 98 6 I & R 5 0 ={AlLE
24021 B— (Wi 199 98 6 B8V R 5 0 F{AlE
241 | {HiR [ 200 99 6 L0 R 5 0 F{AhE
242 R [k 201 99 6 HEYE 5 0 =1Al;
243 K% ZER MR 204 100 6 B LY ER
24450 FE MR 206 101 6 8V R
245|115 P w]BRHA A= 1 70 6 il kAT A kT S ONRiTP% 1 km[X R
246k I s R AR 2 70 6 il A= F A PIT A HRAR AT K OVRiT % 1 km[X [
247k JFE] [HAAE 3 70 6 il 2E TPk T A K FT % OVRIT#% 1 km[X [H]
248/ LfI AR 4 70 6 i & kT = R R OV 1 kmPX[H]
249 )1l 7% ik 5 70 6 il kAT A kT % ONRiT P4 1 km[X R
2503 == (M 6 70 6 i & Ak T = R R OV 1 kmPX[H]
2518 B iR 7 70 6 Hil A kT A kT S OVRiT P 1 km[X R
252|3EK  SF il = 8 70 6 il 2E TPk FT = TPk FT K OV % 1 km X H
253 EIR_ # 8 9 70 6 il 2 Pk P A= kP % ORI 1 kmX[H]
264lRfIL =% (R 10 70 6 i & Ak T = R R OV 1 kmPX[H]
265[1EE  — . [HiE 11 70 6 Rl ZE T ik A kT S ONRiTP% 1 km[X R
256V Al (M 12 70 6 i & Ak T = R R OVET2 1 km X [H]
257w IE—  [HdE 13 70 6 fil 2E H Ak T A kT S ONRiTP% 1 km[X R
268|PHRF  FnwE  [HAE 14 70 6 i & Ak T = R R OVET2 1 km X [H]
259| & = i/E 15 70 6 il A= Rk T A kT % OVRIT#% 1 km[X [H]
2600 - Foer [k 16 70 6 i & Ak T il 2E FP kT K OV % 1 km X R
261/ ¥ESL (M 17 70 6 il ZE Ak it A kT M O 7% 1 km[XCTH]
262| & = il/E 18 70 6 il 2E FP kAT il ZE HP AT R OVRIT% 1 km[X [
263|mnH ¥h (R 19 70 6 fil 2E H Ak T A kT S ONRiT#% 1 km[X R
204|848 e Mk 20 70 6 il 2E Pk FT = R & OVET% 1 km X [H]
205|M5yE  SEE (M 21 70 6 Hil A kT A kT S ONRiTP% 1 km[X R
266|FRbS Mokl Ml 22 70 6 il 2E Pk FT = TPk ET & OV f% 1 km X F
267 Wi YE— [HiZE 23 70 6 Hil 2 kT A kT S ONRiTP% 1 km[X R
268|200k ifEE M 24 70 6 il & Ak T EHR T 2 OVii % 1 km[X[H]
2695 HERE MR 25 70 6 il A= Rk T A= AT M OVRIT % 1 kX[
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270[ WK [HERSTE 214 105 8] Prahikpu AR ER  [6 KT b 1 km(Cs S BIRFERIDY)
271K 0% |BEIETE 217 107 8|  FEURTEALLER 71X 1 kn GRIBIG Raala 52> & 20mH)
272|5k M  WIE [REETE 219 108 8| (FEMBIEALRAER |4 A E R (b7 AVED)
273|BEH L5 [REISTE 220 109 8| FEMRVE AL ER 71X 2 kn GRIRYT /AV7 VED)
274|%) = 8% 210 102 8| [P ALEER |6 K7 b 3kn(K-ONE AUTORM)
275 H ¥ [BA% 212 103 8 FEMRIEAEER  [6X 1 0km (D2 ik7Z =i
276[MNF  selt |88 213 104 8| (FHMEIEALRAER |#RINASE A 4V A AR AT
7T ER P 1 32 8 [N G a5 P A PRI R OV £4 1 km X [H]
2781l fo [BA% 2 82 8 Vo PR T P AR T K OVAIT#% 1 km X[
209l - |BA% 3 82 8 Pa Ok AT PEALR kT % OVRT P4 1 km[X R
280l 5K B (|85 4 82 8 P R kT PG AR kAT % OVRiT£% 1 km[X R
281[FIAR  FHEA S 5 82 8 Pa R AT PEALR TR % ONRT P4 1 km[X R
2828 AN 3% 6 82 8 YN 350 P AR T K OVAIT#% 1 km X[
283[ABH Bk [BA% 7 82 8 Pa R AT PEALR AR % OVRT P4 1 km[X R
2845FRE L |BA% 8 82 8 P R kT PO AR kAT % OVRiT£% 1 km([X R
285|453 2 NE % 9 32 8 P A LR Ak I P A PR AT R OV £4 1 km X [H]
2862 H L |BA% 10 82 8 YN 350 P AR T K OVIT#% 1 km X[
287| K % 8% 11 32 8 Pa R AT PEALR TRk % ONRT P4 1 km[X R
288[dkH CEZ2 12 82 8 YN 350 P AR T K OVIT#% 1 km X[
289|APRH  B—{%A% 13 82 8 Pa R AT PEALR kT % OVRT P4 1 km[X R
29014 it B 14 82 8 V5 R kAT PEA LR H kAT X ONRIT#% 1 km[X ]
201K FuiE (B8 % 15 82 8 PE R AT PEALR TR T % OVRiT P4 1 km[X R
292| P MER (|25 16 82 8 YN 350 P AR A T K OVIT#% 1 km X[
29370k E— |BA% 17 32 8 P A LR Ak I P A PR AT OV £4 1 km X [H]
2047k F/E |BA% 18 82 8 PR kT PR PR AT K OVl 4 1 km X
205l EA (3% 19 82 8 Pa R AT PEALR kT % ONRT P4 1 km[X R
RIS e 2 20 82 8 YN 2350 P AR A T K OVAIT#% 1 km X[
297|EH P (3% 21 82 8 Pa R AT PEALR kT % OVRiT P4 1 km[X R
208|FEHH SRIE (B 22 82 8 YN 350 P AR T K OVAIT#% 1 km X[
209[finE  BEAN [BA% 23 32 8 Pa R AT PEALR AR T % OVRT P4 1 km[X R
300 NI |BA % 24 82 8 YN S350 P AR T K OVAIT#% 1 km X[
01K % [BA% 25 32 8 P A LR Ak T P A FE AR AT OVRi£4 1 km X [H]




